Pirates of the Mathribbean
(* by the problem indicates it is used for the treasure hunt)
Day 1

Names:  Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

 

Integrated, Thematic Problem Solving Unit:  Pirates of the Mathribbean

 

Grade Level: 3rd

 

Arithmetic Topic (operation): Multiplication

 

 

HIERARCHY STEP # 1

 1x1 Multiplication

THEME PROBLEM #1

Calico Jack had 4 crewmen. Each crewman had a peg leg.  How many peg legs did the crewmen have in all?

  

Summary Table
 

Action Language:  4 sets of 1 equals what?

 

Open Number Sentence:   4 x 1=4

 

Manipulative:  cuisenaire rods, number balance
 
Quantitative Solution: 4
 
Referential Meaning:  peg legs

  

 

CONCRETE MANIPULATIVE: Cuisenaire rods

 

 

REPRESENTATIONAL MANIPULATIVE:  number balance

  

TRANSITIONAL ACTIVITIES: Computer Activities

 

Pre-test- Larson Intermediate Math

Multiplying whole numbers

 

Larson- Elementary Math 2- Aquarium 1, 2, 3

www.multiplication.com/interactive_games.html
  

STUDENT PROBLEMS:

 

1. Blackbeard found 3 treasure chests.  Each chest contained 2 gold coins.  How many gold coins did he find in all?

 

2.  Ann Bonny had 3 hats.  Each hat had 3 pins on it.  How many pins did she have in all?

 

*3.  Black Bart had 5 cannons on his ship.  Each cannon had 2 cannonballs in it.  How many cannonballs did Black Bart have in all?

 

*4.  The Queen Anne’s Revenge had 4 masts.  Each mast had 2 flags on it.  How many flags did the QAR have in all?

  

STUDENT ANSWER KEY:

 

1.         Quantitative Meaning: 6

 

            Referential Meaning:  gold coins

 

2.         Quantitative Meaning: 9

 

            Referential Meaning: pins

 

3.         Quantitative Meaning: 10

 

            Referential Meaning: cannonballs

 

4.         Quantitative Meaning:  8
 

            Referential Meaning: flags

Day 2:

Names: Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

Integrated, Thematic Problem Solving Unit:  Pirates of the Mathribbean

Grade Level: 3rd

Arithmetic Topic (operation): Multiplication 

HIERARCHY STEP # 2

Review Cuisenaire rods – 1 x 1 multiplication

Introduce Cuisenaire rods with number track – 1x1 and 2 x 1 multiplication

Introduce base 10 blocks - 2 x 1 multiplication

THEME PROBLEM # 1

Captain Blackbeard and his crew sailed to Treasure Island to look for buried treasure.  He decided to send 5 teams of 5 pirates to search the island.  How many pirates did he send to the island to look for the treasure?
THEME PROBLEM # 2
Captain Blackbeard ordered 2 teams of his pirates to dig for buried treasure.  Each team digs 15 holes.  How many holes do the pirates dig in all?
 

Summary Table
Action Language: Sets of

Open Number Sentence:         5 x 5 =




2 x 15 =
Manipulative: Cuisenaire-rods with number track

Quantitative Solution:   25



  30
Referential Meaning:  pirates 



holes
CONCRETE MANIPULATIVE: Cuisenaire rods with number track

REPRESENTATIONAL MANIPULATIVE: Base 10 blocks

TRANSITIONAL ACTIVITIES: Computer Activities

Math TLC Grade 3 5f, EMC II 2-1-3, multiplication etc
Math TLC Grade 3 7-G: Understanding Multiplication, EMwMII-Modeling Operations, Multiplication, Blocks, Level A (1x1)
www.mathplayground.com/games.html– Space Racer Multiplication (1x1)

                                                                   Race the Wangdoodles (1x1 and 2x1)

                                                                   Balloon Invaders (1x1 and 2x1)

                                                                   Math Munchers (1x1 and 2x1)

STUDENT PROBLEMS:

1.  Captain Blackbeard decided to send 5 teams of 10 pirates to search the island for buried treasure.  How many pirates did he send to the island to look for the treasure? (number track)

*2.  There were 6 trails on the island.  Each trail was 12 miles long.  How many miles would it take the pirates to walk all 6 trails? (number track)

*3.  Captain Blackbeard ordered 2 teams of pirates to dig for buried treasure.  Each team digs 30 holes.  How many holes do the pirates dig in all? (base 10 blocks)

*4.  Captain Blackbeard’s crew found 3 buried treasure chests with 52 pieces of gold inside each chest.  How many pieces of gold did they find? (base 10 blocks)

STUDENT ANSWER KEY:

1.
Quantitative Meaning:  50


Referential Meaning: Pirates

2.
Quantitative Meaning:  72


Referential Meaning:  Miles

3.
Quantitative Meaning:  60


Referential Meaning:  Holes

4.
Quantitative Meaning:  156


Referential Meaning: Pieces of gold

Day 3:

Names: Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

 

Integrated, Thematic Problem Solving Unit: Pirates of the Mathribbean
 

Grade Level: 3rd
 

Arithmetic Topic (operation): Multiplication 2x1 and 3x1

  

HIERARCHY STEP #3

 

THEME PROBLEM #1

5 cargo ships full of gold are headed our way.  We pirates want to figure out how many trunks of gold we’ll be collecting.  If each ship has 85 trunks of gold, how many trunks in total will we be capturing?

THEME PROBLEM #2
The captain of the ship is storing gold coins in a secret hold in the ship.  If he hides 310 coins each day for 4 days, how many coins has he hidden in total?

 

Summary Table
 Action Language: Sets Of

 

Open Number Sentence: 

1)   5 x 85=

2)   4 x 310=

 

Manipulative: Base 10
 
Quantitative Solution:
1)            425
2)         1,240
 
 Referential Meaning:  

1)      Trunks of Gold
2)      Coins
 
CONCRETE MANIPULATIVE:  None

  

REPRESENTATIONAL MANIPULATIVE: 

Base 10

Place Value Chart
 
TRANSITIONAL ACTIVITIES: 

Computer Activities:
 Larsons: Grade 3 Math Practice 7-L Problems & Practice Stack a Fact
  

http://www.toonuniversity.com   (place value to thousands) a grade 3 math game to help students practice their place value to thousands.  
 

http://www.ictgames.com/sharknumbers.html  this site practices place value in 2 digit numbers using base 10 blocks.
 
SYMBOLIC:  None 

  

STUDENT PROBLEMS:
 

1.  In order to row a-shore to gather supplies, we put 4 smaller boats in the water with 76 pirates to each boat.  How many pirates need to row a-shore all together?  (Base 10)
4 x 76= 
*2.  A Pirate is forced by the captain to walk the plank, and he sinks to Davy Jones’ locker at the rate of 6 feet per second.  If it takes them 175 seconds to reach the bottom, how many feet must they have fallen?  (Base 10 or Place Value) 6 x 175=

*3.  We see 3 ships on the horizon.  We know each ship has 126 cannons.  How many cannons will we be up against if we don’t get out of here? (Base 10 or Place Value) 

3 x 126=
 

*4. A cannonball destroys part of the Jolly Roger, and the crew needs to replace all of the damaged planks.  If a crew member replaces 139 planks in an hour for 8 hours, how many planks has he replaced on the ship? 8 x 139=
 

STUDENT ANSWER KEY:

 

1.         Quantitative Meaning:  304 

 

            Referential Meaning:  Pirates
 

 

2.         Quantitative Meaning:  1,050
  

            Referential Meaning:  Seconds
  

3.         Quantitative Meaning:  378
 

            Referential Meaning:  Cannons

  

4.         Quantitative Meaning:  1,112
 

            Referential Meaning:  Planks
 

 

  Day 4:

 Names:  Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

Integrated, Thematic Problem Solving Unit:  Pirates of the Mathribbean

Grade Level: 3rd

Arithmetic Topic (operation): Multiplication 3 x 1

HIERARCHY STEP # 4

Introduce transitional activities: Expanded notation and Partial products 

Also, checking for reasonableness and accuracy (upper/lower; casting out nines)

THEME PROBLEM #1

Captain Cousto announced that they were sailing at a speed of 175 miles per hour, and would approximately see the lighthouse within 5 hours.  At what distance is the lighthouse from where the ship is?

Summary Table
Action Language:  5 sets of 175 equals what?

Open Number Sentence: 5 X 175 = ?

Manipulative:  Base 10 blocks, Place value chart

Quantitative Solution: 875

Referential Meaning:  miles

CONCRETE MANIPULATIVE: N/A

REPRESENTATIONAL MANIPULATIVE:  Base 10 blocks, Place value chart

TRANSITIONAL ACTIVITIES:  Expanded notation, Partial products, and

                                                       Computer Activities

http://www.dositey.com/addsub/Mystery6.htm
http://www.funbrain.com/tens/index.html
STUDENT PROBLEMS:

1. There were 270 pirates in each of the 4 ships anchored in the Arabian Ocean.  How many pirates were there in the ships all together? 4 x 270=

*2. Christopher Columbus ate 3 meals every day.  If he sailed for 128 days to reach his destination, how many meals did he eat in all, while in the ship? 128 x 3=

*3. Captain Preston planned for 118 weeks before each of his 6 voyages.  How many weeks did he spend planning for his voyages in all? 6 x 118=

*4. There were 9 pirates in the ship that sailed the Caribbean.  When they found a huge treasure chest of gold coins they equally distributed the treasure amongst themselves, and got 375 gold coins each.  How many gold coins were in the treasure chest? 9 x 375=

STUDENT ANSWER KEY:

1.
Quantitative Meaning: 1,080


Referential Meaning:  pirates

2.
Quantitative Meaning: 384


Referential Meaning: meals

3.
Quantitative Meaning: 708


Referential Meaning: days

4.
Quantitative Meaning: 3,375


Referential Meaning: gold coins
DAY 5:

Names: Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

Integrated, Thematic Problem Solving Unit: Pirates of the Mathribbean

Grade Level: 3rd

Arithmetic Topic (operation): Multiplication

HIERARCHY STEP #5 

Review Concrete manipulatives (1x1 factors)

Representational manipulatives (2x1 factors and 3x1 factors)

Introduce Standard Algorithms (2x1 and 3x1 factors)

THEME PROBLEM #1

The Buccaneer ship has to make a voyage to the island of Tahiti.  They travel 56 miles per day, and it takes them 5 days to get to the island. How many miles will they travel to Tahiti?

Summary Table
Action Language: Sets of 

Open Number Sentence: 5 x 56 = ?

Manipulative: Base 10 blocks 

Quantitative Solution:


280

Referential Meaning:  

Miles 

CONCRETE MANIPULATIVE: 

Cuisenaire rods

REPRESENTATIONAL MANIPULATIVE: 

Base 10 blocks, Place Value Chart

SYMBOLIC: Standard Algorithm - introduce

TRANSITIONAL ACTIVITIES: Expanded Notation, Partial Products

Check for reasonableness and accuracy

Computer Activities:

Larson Post Test – Multiplying Whole Numbers

Choice day:

Math TLC Grade 3 5f, EMC II 2-1-3, multiplication etc
Math TLC Grade 3 7-G: Understanding Multiplication, EMwMII-Modeling Operations, Multiplication, Blocks, Level A (1x1)
www.mathplayground.com/games.html– Space Racer Multiplication (1x1)

                                                                   Race the Wangdoodles (1x1 and 2x1)

                                                                   Balloon Invaders (1x1 and 2x1)

                                                                   Math Munchers (1x1 and 2x1)

http://www.dositey.com/addsub/Mystery6.htm
http://www.funbrain.com/tens/index.html
Larsons: Grade 3 Math Practice 7-L Problems & Practice Stack a Fact

www.aplusmath.com/games/picture/MulPicture.html

www.programmingart.com (1x1 and 2x1 factors)

www.playkidsgames.com/mathGames

STUDENT PROBLEMS:

1. When Captain John Smith arrived on Tahiti, he and his 7 men were thirsty. Each of them drank 6 coconuts. How many coconuts did they drink? (8x6)

*2. Captain Smith needed to build a boat to transport his supplies to his ship. He bought 8 logs and paid $125.00 for each log. How much money did he spend?

*3. Captain Smith traded some of his muskets for silver coins.  He visited 3 natives. Each native gave him 121 pieces of silver coins. How many silver coins did he receive?

*4. Captain Smith’s 9 crew members went fishing in the ocean. Each man caught 113 fish. How many fish did they catch?

STUDENT ANSWER KEY:

1.
Quantitative Meaning: 48


Referential Meaning: Coconuts

2.
Quantitative Meaning: 1000.

Referential Meaning: $

3.
Quantitative Meaning: 363


Referential Meaning: Pieces of Silver

4.
Quantitative Meaning: 1,017

Referential Meaning: Fish

Day 6:

Names: Kaniti, Outen, Ridgway, Robinson, Vaughn, Whewell

Integrated, Thematic Problem Solving Unit: Pirates of the Mathribbean

Grade Level: 3rd

Arithmetic Topic (operation): Multiplication

HIERARCHY STEP #6 

2x2 and 3x2 using arrays

THEME PROBLEM #1

Captain Jack Sparrow and his crew on the Black Pearl sailed to Peg Leg Island.  They rowed 12 boats to the shore.  Each boat could hold 16 pirates.  How many pirates rowed to the shore?

THEME PROBLEM #2

Captain Bly is placing 450 coins into separate treasure chests to hide among the islands of the Caribbean.  If he has 16 chests available to fill with coins, how many coins can he hide in total?

Summary Table
Action Language: Sets of 

Open Number Sentence:

12 x 16=

16 x 450=

Manipulative: None

Quantitative Solution:

   192

7,200

Referential Meaning:  Pirates; Coins

CONCRETE MANIPULATIVE:  None

REPRESENTATIONAL MANIPULATIVE: None

TRANSITIONAL ACTIVITIES: Array 

Computer Activities

www.mrnussbaum.com

http://www.dositey.com/addsub/Mystery6.htm
Check for reasonableness and accuracy

STUDENT PROBLEMS:

1. Captain Jack Sparrow and his crew found 21 bags of silver in a hidden cave.  Each bag contains 36 silver coins.  How many silver coins did they have in all? 21 x 36 =

2. Captain Jack Sparrow and his crew also found 33 bags of pearls in the hidden cave.  Each bag contained 45 pearls.  How many pearls did they find in all? 33 x 45=

3.  Blackbeard knows that his ship is capable of sailing 135 miles per day.  If he plans to sail constantly for the next 12 days, how many miles can he expect to travel? 12 x 135=
If he also knows that his destination island is exactly 1500 miles from his current location, will he be able to reach it in the 12 days? 
 

4.  18 pirates must abandon their sinking ship.  They each are able to throw 115 bags of gold overboard before jumping in themselves.  How many total bags of gold are now sinking to the bottom of the sea?  18 x 115 =

STUDENT ANSWER KEY:

1.
Quantitative Solution :  756
Referential Meaning : Coins
2.
Quantitative Solution : 1,485
Referential Meaning : Peals
3.
Quantitative Solution : 1,620
Referential Meaning : Miles
 (Yes)
4.
Quantitative Meaning: 2,070

Referential Meaning: bags of gold

Treasure Hunt Clue Sheet
Use the solutions to the * problems you solve each day to fill in the blanks.  The result will be a clue to find the treasure.        

                       [image: image1.wmf]
Answers:

                                       day 1, p 3    _____=t       day 1, p 4   ______=r

day 2, p 2  ______ =e    day 2, p 3    ______=s      day 2, p4  _____=a                           

day 3, p 2 ______=y     day 3, p 3    ______=h     day 3, p 4  _____=k          

day 4, p 2 ______=i     day 4, p 3   _______=l      day 4, p4 _______=u

day5, p 2  _______=b   day 5, p 3 _______=n      day 5, p4 ________=d           

__      __       __                   ____     __    ___              ___    ___         

10      378     72                  1112     72   1050              384    60    
___    __    __    __    __        __    __   __         __   __     __     __      __ .
3375  36   1017  72    8        10   378   72         72  156  1000   708    72

Treasure Hunt:  Answer Key-Pirates of the Mathribbean

Day 1
t = 10

r = 8

Day 2

e = 72

s = 60

a = 156

Day 3

y = 1050

h = 378 

k = 1112

Day 4

i = 384

l = 708

u = 3375

Day 5

b = 1000

n = 363

d = 1017

 T        h         e                   k          e       y                  i        s      

10      378    72                  1112    72   1050              384   60    
u         n        d         e     r         t    h       e          t      a       b          l        e.

3375   36    1017    72   8       10   378  72         72  156  1000   708    72

 

 
Pirates of the Mathribbean

Computer Lab:

Day 1:

Pre-test- Larson Intermediate Math

Multiplying whole numbers

 

Larson- Elementary Math 2- Aquarium 1, 2, 3

www.multiplication.com/interactive_games.html 

Day 2:

Math TLC Grade 3 5f, EMC II 2-1-3, multiplication etc
Math TLC Grade 3 7-G: Understanding Multiplication, EMwMII-Modeling Operations, Multiplication, Blocks, Level A (1x1)
www.mathplayground.com/games.html– Space Racer Multiplication (1x1)

                                                                   Race the Wangdoodles (1x1 and 2x1)

                                                                   Balloon Invaders (1x1 and 2x1)

                                                                   Math Munchers (1x1 and 2x1)

Day 3:

Math TLC Grade 3 Math Practice 7-L Problems & Practice Stack a Fact
Place value sites: funbrain.com

                             toonuniversity.com

                             312know.com

http://www.toonuniversity.com   (place value to thousands) for grade 3 math game to help students practice their place value to thousands.  
 

http://www.ictgames.com/sharknumbers.html  this site has practices place value in 2 digit numbers using base 10 blocks.
Day 4: 

http://www.dositey.com/addsub/Mystery6.htm
http://www.funbrain.com/tens/index.html
Day 5:

Larson Post-Test - Multiplication

www.mrnussbaum.com

http://www.aplusmath.com/Games/Concentration/Multiplication
http://www.arcytech.org/java/b10blocks/b10blocks.html
(Base 10 site)

Day 6:

www.mrnussbaum.com

http://www.dositey.com/addsub/Mystery6.htm
